112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

1 NS: Prdst $8{-88(GH0) -13 7 NS: BRE# BREIB(BAC) 2 5.04 14.96 | Total VP: 127.70 Rank:
EW: MiERIEE FiBsE(RAC) -2 EW: BAtE A S15155(BAO) 13 IMP:| 0 14 8
I
# 17 & A52 3NN-2 -100 Mean: 3NN5 460 70 1 # 18 a9 4SW-1 50 Mean: 5DS5 600 100 1
v K5 3NN3 400 160  3NN3 400 6.0 4 v AT853 4SW-150 140 5SXW-2 300 4.0 2
«» K872 Dif: -500 NS:-6 3NN-1 50 50 2 ¢ 32 Dif: 0 NS:-3 5SXE-2 300 40 1
& AKQ6 IMP: -11 EW:-6 3NN-2 100 -6.0 2 & KQ432 IMP: 0 EW:3 4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 170 Mean: 4SN4 420 40 4 ||# 20 » A853 4HN4 620 Mean: 4HS4 620 0.0 1
v AJ 3SN4 170 260  3SN4 170 3.0 3 v 87542 4HN4 620 620  4HN4 620 0.0 9
¢ 543 Dif: 0 NS:-3 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: 0 EW:3 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 _I_ v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 1NN2 120 Mean: 3NS5 660 100 2 ||# 22 » J83 4SW-1 100 Mean: 3HN3 140 50 1
v Q7 3CS4130 170  1NS5 210 1.0 2 v AJ7653 3SW-1100 -50  4SW-1 100 40 3
+ KT53 Dif: 10 NS:-2 3CS4 130 1.0 1 *3 Dif: 0 NS:4 3SwW-1 100 40 2
» KT83 IMP: 0 EW:1 1NN2 120 20 1 » J85 IMP: 0 EW:-4 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4swa 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT * KJ964
+ Q2 & 54 » Q632 & KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SXS-1-200 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 4HS4 420 Mean: 4HS6 480 4.0 2
v QJ62 4S8S-1-100 0 5HE-2 200 50 1 v T95 4HS4 420 350 3NS5 460 3.0 1
*4 Dif: -100 NS:-5 4HE-1 100 3.0 1 + AKQJ65 Dif: 0 NS:2 4Hs4 420 20 3
& 9862 IMP: -3 EW:3 4SS-1 4100 -30 6 & J4 IMP: 0 EW:-2 4SXW-2 300 -2.0 3
a4 ~ 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

2 NS: B&ST #REEFGHO) 26 9 NS: 2BR3E 5R{ZRH(BAC) -14 19.37 : 0.63 Total VP: 129.79 Rank:
EW: B2 52 5EI0) 14 EW: #1818 BRiIiF(BAO) -2 IMP:| 42 : 5 7
I
# 17 o A52 3NN-1-50 Mean: 3NN5 460 7.0 1 |[# 18 9 5SXW-2 300 Mean: 5DS5 600 10.0 1
v K5 3NN-3 -150 160  3NN3 400 6.0 4 v AT853 5DS-1-100 140 5SXW-2 300 40 2
«» K872 Dif: 100 NS:-5 3NN-1 50 50 2 ¢ 32 Dif: 400 NS:4 5SXE-2 300 40 1
& AKQ6 IMP: 3 EW:7 3NN-2 100 -6.0 2 & KQ432 IMP: 9 EW:6 4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & 1952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 4SN4 420 Mean: 4SN4 420 40 4 ||# 20 » A853 4HN4 620 Mean: 4HS4 620 0.0 1
v AJ 2SN4 170 260  3SN4 170 3.0 3 v 87542 4HN4 620 620  4HN4 620 0.0 9
¢ 543 Dif: 250 NS:4 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: 6 EW:3 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 + v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NS5 660 Mean: 3NS5 660 100 2 ||# 22 » J83 4SW-1 100 Mean: 3HN3 140 50 1
v Q7 2HW-150 170 1NS5 210 1.0 2 v AJ7653 3SW-1100 -50  4SW-1 100 40 3
+ KT53 Dif: 610 NS:10 3CS4 130 1.0 1 *3 Dif: 0 NS:4 3SwW-1 100 40 2
» KT83 IMP: 12 EW:3 1NN2 120 20 1 » J85 IMP: 0 EW:-4 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4swa 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT * KJ964
+ Q2 & 54 » Q632 & KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 5HXE-2 500 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 4SXW-2 300 Mean: 4HS6 480 4.0 2
v QJ62 4SS-1-100 0© 5HE-2 200 50 1 v T95 4HS6 480 350 3NS5 460 3.0 1
*4 Dif: 600 NS:11 4HE-1 100 3.0 1 + AKQJ65 Dif: -180 NS:-2 4HS4 420 20 3
& 9862 IMP: 12 EW:3 4SS-1 4100 -30 6 & J4 IMP: -5 EW:-4 4SXW-2 300 -2.0 3
a4 ~ 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

3 NS: FENER 12 ERZ(GHO) -14 6 NS: BREEZE 2 (BAC) -2 6.88 13.12| Total VP: 181.90 Rank:
EW: #{— & BESFR(EAC) 2 EW: ZhiEi8 FE1E(BAO) 14 IMP:| 15 23 2
I
# 17 a A52 3NN3 400 Mean: 3NN5 460 7.0 1 |[#18 a9 4SW-150 Mean: 5DS5 600 10.0 1
v K5 3NN-1-50 160  3NN3 400 6.0 4 v AT853 5SXE-2300 140 5SXW-2 300 4.0 2
«» K872 Dif: 450 NS:6 3NN-1 50 50 2 ¢ 32 Dif: -250 NS:-3 5SXE-2 300 40 1
& AKQ6 IMP: 10 EW:5 3NN-2 100 -6.0 2 & KQ432 IMP: -6 EW:-4 4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ » T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 2SN4 170 Mean: 4SN4 420 40 4 ||# 20 » A853 4HN4 620 Mean: 4HS4 620 0.0 1
v AJ 4SN4 420 260  3SN4 170 3.0 3 v 87542 4HN4 620 620  4HN4 620 0.0 9
¢ 543 Dif: -250 NS:-3 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: -6 EW:-4 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 + v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NN-1-100 Mean: 3NS5 660 100 2 ||# 22 » J83 2SW2 -110 Mean: 3HN3 140 50 1
v Q7 1NS5210 170  1NS5 210 1.0 2 v AJ7653 5HXN-2 -300 -50  4SW-1 100 40 3
+ KT53 Dif: -310 NsS:-7 3Cs4 130 1.0 1 *3 Dif: 190 NS:-2 3SW-1 100 40 2
» KT83 IMP: -7 EW:-1  1NN2 120 20 1 » J85 IMP: 5 EW:6 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4swa 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT * KJ964
+ Q2 & 54 » Q632 & KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1-100 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 4SXW-2 300 Mean: 4HS6 480 4.0 2
v QJ62 4SS-1-100 © 5HE-2 200 50 1 v T95 3NS5460 350 3NS5 460 3.0 1
*4 Dif: 0 NS:-3 4HE-1 100 3.0 1 + AKQJ65 Dif: -160 NS:-2 4HS4 420 20 3
& 9862 IMP: 0 EW:3 4SS-1 4100 -30 6 & J4 IMP: -4 EW:-3 4SXW-2 300 -2.0 3
a4 ~ 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

4 NS: BRAERE #ERGE0) 13 10 NS: B35 =3¢ HE(BAC) -16 17.50 : 2.50 Total VP: 122.54 Rank:
EW: 8% MeGHEAC) 16 EW: £ 5E sRR:%(BA0) -1 IMP:| 39 14 9
I I
# 17 o A52 3NN5 460 Mean: 3NN5 460 7.0 1 |[# 18 9 5DS5 600 Mean: 5DS5 600 10.0 1
v K5 3NN-2-100 160  3NN3 400 6.0 4 v AT853 5SXW-2 300 140 5SXW-2 300 4.0 2
«» K872 Dif: 560 NS:7  3NN-1 50 50 2 ¢ 32 Dif: 300 NS:10 5SXE-2 300 40 1
& AKQ6 IMP: 11 EW:6 3NN-2 100 -6.0 2 & KQ432 IMP: 7 EW:-4 4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & 1952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 170 Mean: 4SN4 420 40 4 ||# 20 » A853 4HS4 620 Mean: 4HS4 620 0.0 1
v AJ 2CS290 260 3SN4 170 3.0 3 v 87542 4HN4 620 620  4HN4 620 0.0 9
¢ 543 Dif: 80 NS:-3 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: 2 EW:5 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 + v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 1NS5210 Mean: 3NS5 660 100 2 ||# 22 » J83 4SW-1 100 Mean: 3HN3 140 50 1
v Q7 3NS-1-100 170  1NS5 210 1.0 2 v AJ7653 4SW4 -620 -50  4SW-1 100 40 3
+ KT53 Dif: 310 NS:1  3CS4 130 1.0 1 *3 Dif: 720 NS:4 3SW-1 100 40 2
» KT83 IMP: 7 EW:7 1NN2 120 20 1 » J85 IMP: 12 EW:11  2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4SW4 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT * KJ964
+ Q2 & 54 » Q632 » KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4HE-1 100 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 5HS-1-50 Mean: 4HS6 480 4.0 2
v QJ62 5HE-2200 o 5HE-2 200 50 1 v T95 4HS6 480 350 3NS5 460 3.0 1
*4 Dif: -100 NS:3 4HE-1 100 3.0 1 + AKQJ65 Dif: -530 NS:-9 4HS4 420 20 3
& 9862 IMP: -3 EW:-5 4SS-1 4100 -30 6 & J4 IMP: -11 EW:-4 4SXW-2 300 -20 3
a4 ~ 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
% VAN o QJT762 ¢VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

5 NS: B&3E 3t Z.22(E0) 9 8 NS: S EMAREAC) 2 | 11.27 : 8.73 | TotalVP:|  190.33 Rank:
EW: SR #E&EEAC) -2 EW: &igT RERI(BAO) -9) IMP:| 16 13 1
I
# 17 o A52 3NN3 400 Mean: 3NN5 460 7.0 1 |[# 18 9 6DS-2 -200 Mean: 5DS5 600 10.0 1
v K5 3NN3 400 160  3NN3 400 6.0 4 v AT853 4SXW-1100 140 5SXW-2 300 4.0 2
«» K872 Dif: 0 NS:6 3NN-1 50 50 2 ¢ 32 Dif: -300 NS:-8 5SXE-2 300 40 1
& AKQ6 IMP: 0 EW:-6 3NN-2 100 -6.0 2 & KQ432 IMP: -7 EW:1  4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~ 4~ 4 ¢ AJ972 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJO8754
E ~~~~~ & 1952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 4SN4 420 Mean: 4SN4 420 40 4 ||# 20 » A853 4HN4 620 Mean: 4HS4 620 0.0 1
v AJ 4SN4 420 260 3SN4 170 3.0 3 v 87542 4HN4 620 620  4HN4 620 0.0 9
¢ 543 Dif: 0 NS:4 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: 0 EW:-4 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 _|_ v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NS5 660 Mean: 3NS5 660 100 2 ||# 22 » J83 2SW2 -110 Mean: 3HN3 140 50 1
v Q7 3NS-1-100 170  1NS5 210 1.0 2 v AJ7653 3HN3 140 -50  4SW-1 100 40 3
+ KT53 Dif: 760 NS:10 3CS4 130 1.0 1 *3 Dif: -250 NS:-2 3SW-1 100 40 2
» KT83 IMP: 13 EW:7 1NN2 120 20 1 » J85 IMP: -6 EW:-5 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4swa 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT * KJ964
+ Q2 » 54 » Q632 » KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1-100 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 4HS4 420 Mean: 4HS6 480 4.0 2
v QJ62 4S8S-1-100 0 SHE-2 200 50 1 v T95 4SXW-2 300 350 3NS5 460 3.0 1
*4 Dif: 0 NS:-3 4HE-1 100 3.0 1 + AKQJ65 Dif: 120 NS:2 4HS4 420 20 3
& 9862 IMP: 0 EW:3 4SS-1 4100 -30 6 & J4 IMP: 3 EW:2 4SXwW-2 300 -20 3
a4 » 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
B¢V ABN o QIT762 ¢VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

6 NS: BRzEEE MM BEHC) -2 3 NS: #IEF] 52 7Z(BO) -14 13.12 : 6.88 Total VP: 181.80 Rank:
EW: Zi&E EHEEI0) 14 EW: #F{ZE BRFR(BAC) 2 IMP:| 23 15 3
I -
# 17 a A52 3NN3 -400 Mean: 3NN5 460 7.0 1 |[#18 a9 4SW-1-50 Mean: 5DS5 600 10.0 1
v K5 3NN-150 160  3NN3 400 6.0 4 v AT853 5SXE-2-300 140 5SXW-2 300 4.0 2
«» K872 Dif: -450 NS:-5 3NN-1 50 50 2 ¢ 32 Dif: 250 NS:4 5SXE-2 300 40 1
& AKQ6 IMP: -10 EW:-6 3NN-2 100 -6.0 2 & KQ432 IMP: 6 EW:3 4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ » T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 2SN4 -170 Mean: 4SN4 420 40 4 ||# 20 » A853 4HN4 -620 Mean: 4HS4 620 0.0 1
v AJ 4SN4 -420 260  3SN4 170 3.0 3 v 87542 4HN4 -620 620  4HN4 620 0.0 9
¢ 543 Dif: 250 NS:4 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: 6 EW:3 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 + v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NN-1 100 Mean: 3NS5 660 100 2 ||# 22 » J83 2SW2 110 Mean: 3HN3 140 50 1
v Q7 1NS5-210 170  1INS5 210 1.0 2 v AJ7653 5HXN-2 300 -50  4SW-1 100 40 3
+ KT53 Dif: 310 NS:1  3CS4 130 1.0 1 *3 Dif: -190 NS:-6 3SW-1 100 40 2
» KT83 IMP: 7 EW:7 1NN2 120 20 1 » J85 IMP: -5 EW:2 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4swa 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT + KJ964
+ Q2 & 54 » Q632 & KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1 100 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 4SXW-2 -300 Mean: 4HS6 480 4.0 2
v QJ62 4SS-1100 o© 5HE-2 200 50 1 v T95 3NS5 -460 350 3NS5 460 3.0 1
*4 Dif: 0 NS:-3 4HE-1 100 3.0 1 + AKQJ65 Dif: 160 NS:3 4HS4 420 20 3
& 9862 IMP: 0 EW:3 4SS-1 4100 -30 6 & J4 IMP: 4 EW:2 4SXwW-2 300 -2.0 3
a4 ~ 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

7 NS: B BUEIR(EHC) 2 1 NS: 5 $E{ZH(BO) -13 1496 : 5.04 Total VP: 162.88 Rank:
EW: EEithgr Sf28EFH0) 13 EW: BREIE 3 iA(BAC) -2 IMP:} 14 : 0 5
I -
# 17 a A52 3NN-2 100 Mean: 3NN5 460 7.0 1 |[#18 a9 4SW-1-50 Mean: 5DS5 600 10.0 1
v K5 3NN3 -400 160  3NN3 400 6.0 4 v AT853 4SW-1-50 140 5SXW-2 300 4.0 2
«» K872 Dif: 500 NS:6 3NN-1 50 50 2 ¢ 32 Dif: 0 NS:-3 5SXE-2 300 40 1
& AKQ6 IMP: 11 EW:6 3NN-2 100 -6.0 2 & KQ432 IMP: 0 EW:3 4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 -170 Mean: 4SN4 420 40 4 ||# 20 » A853 4HN4 -620 Mean: 4HS4 620 0.0 1
v AJ 3SN4 -170 260  3SN4 170 3.0 3 v 87542 4HN4 -620 620  4HN4 620 0.0 9
¢ 543 Dif: 0 NS:-3 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: 0 EW:3 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 + v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 1NN2 -120 Mean: 3NS5 660 100 2 ||# 22 » J83 4SW-1-100 Mean: 3HN3 140 50 1
v Q7 3CS4-130 170  1NS5 210 1.0 2 v AJ7653 3SW-1-100 -50  4SW-1 100 40 3
+ KT53 Dif: 10 NS:-1  3CS4 130 1.0 1 *3 Dif: 0 NS:4 3SwW-1 100 40 2
» KT83 IMP: 0 EW:2 1NN2 120 20 1 » J85 IMP: 0 EW:-4 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4swa 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT * KJ964
+ Q2 & 54 » Q632 & KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SXS-1200 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 4HS4 -420 Mean: 4HS6 480 4.0 2
v QJ62 4SS-1100 o 5HE-2 200 50 1 v T95 4HS4 -420 350 3NS5 460 3.0 1
*4 Dif: 100 NS:-3 4HE-1 100 3.0 1 + AKQJ65 Dif: 0 NS:2 4Hs4 420 20 3
& 9862 IMP: 3 EW:5 4SS-1 4100 -30 6 & J4 IMP: 0 EW:-2 4SXW-2 300 -2.0 3
a4 ~ 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =AE(181.8)

8 NS: SEgf4 221§ HEEHC) 2 5 NS: E€5E # 2% (FH0) 9 8.73 11.27 | Total VP: 163.59 Rank:
EW: #iE T SEBEE0) 9 EW: i#tiRiE MER(BAC) -2 IMP:| 13 16 4
I
# 17 o A52 3NN3 -400 Mean: 3NN5 460 7.0 1 |[# 18 9 6DS-2 200 Mean: 5DS5 600 10.0 1
v K5 3NN3 -400 160  3NN3 400 6.0 4 v AT853 4SXW-1-100 140 5SXW-2 300 4.0 2
«» K872 Dif: 0 NS:6 3NN-1 50 50 2 ¢ 32 Dif: 300 NS:-1 5SXE-2 300 40 1
& AKQ6 IMP: 0 EW:-6 3NN-2 100 -6.0 2 & KQ432 IMP: 7 EW:8 4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 4SN4 -420 Mean: 4SN4 420 40 4 ||# 20 » A853 4HN4 -620 Mean: 4HS4 620 0.0 1
v AJ 4SN4 -420 260  3SN4 170 3.0 3 v 87542 4HN4 -620 620  4HN4 620 0.0 9
¢ 543 Dif: 0 NS:4 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: 0 EW:-4 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 + v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NS5 -660 Mean: 3NS5 660 100 2 ||# 22 » J83 2SW2 110 Mean: 3HN3 140 50 1
v Q7 3NS-1100 170  1NS5 210 1.0 2 v AJ7653 3HN3 -140 -50  4SW-1 100 40 3
+ KT53 Dif: -760 NS:-7 3CS4 130 1.0 1 *3 Dif: 250 NS:5 3SW-1 100 40 2
» KT83 IMP: -13 EW:-10 1NN2 120 20 1 » J85 IMP: 6 EW:2 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4swa 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT * KJ964
+ Q2 & 54 » Q632 & KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4SS-1 100 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 4HS4 -420 Mean: 4HS6 480 4.0 2
v QJ62 4SS-1100 o 5HE-2 200 50 1 v T95 4SXW-2 -300 350 3NS5 460 3.0 1
*4 Dif: 0 NS:-3 4HE-1 100 3.0 1 + AKQJ65 Dif: -120 NS:-2 4HS4 420 20 3
& 9862 IMP: 0 EW:3 4SS-1 4100 -30 6 & J4 IMP: -3 EW:-2 4SXW-2 300 -2.0 3
a4 ~ 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

9 NS: SSEHE 5REBHEAC) -14 2 NS: [RE<F HiEF(FRO0) 26 0.63 19.37 | Total VP: 130.11 Rank:
EW: St BRI $R(BHO) -26 EW: BIE% B2 5(FIC) 14 IMP:| 5 : 42 6
I
# 17 o A52 3NN-1 50 Mean: 3NN5 460 7.0 1 |[# 18 9 5SXW-2 -300 Mean: 5DS5 600 10.0 1
v K5 3NN-3 150 160  3NN3 400 6.0 4 v AT853 5DS-1100 140 5SXW-2 300 4.0 2
«» K872 Dif: -100 NS:-7 3NN-1 50 50 2 ¢ 32 Dif: -400 NS:-6 5SXE-2 300 40 1
& AKQ6 IMP: -3 EW:5 3NN-2 100 -6.0 2 & KQ432 IMP: -9 EW:-4 4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS » 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & T952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 4SN4 -420 Mean: 4SN4 420 40 4 ||# 20 » A853 4HN4 -620 Mean: 4HS4 620 0.0 1
v AJ 2SN4 -170 260  3SN4 170 3.0 3 v 87542 4HN4 -620 620  4HN4 620 0.0 9
¢ 543 Dif: -250 NS:-3 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: -6 EW:-4 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 + v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 3NS5 -660 Mean: 3NS5 660 100 2 ||# 22 » J83 4SW-1-100 Mean: 3HN3 140 50 1
v Q7 2HW-1-50 170  1NS5 210 1.0 2 v AJ7653 3SW-1-100 -50  4SW-1 100 40 3
+ KT53 Dif: -610 NsS:-3 3CS4 130 1.0 1 *3 Dif: 0 NS:4 3SwW-1 100 40 2
» KT83 IMP: -12 EW:-10 1NN2 120 20 1 » J85 IMP: 0 EW:-4 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4swa 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT + KJ964
+ Q2 » 54 » Q632 » KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJ976 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 5HXE-2 -500 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 4SXW-2 -300 Mean: 4HS6 480 4.0 2
v QJ62 4SS-1100 o SHE-2 200 50 1 v T95 4HS6 -480 350 3NS5 460 3.0 1
*4 Dif: -600 NS:-3 4HE-1 100 3.0 1 + AKQJ65 Dif: 180 NS:4 4HS4 420 20 3
& 9862 IMP: -12 EW:-11 4SS-1 4100 -30 6 & J4 IMP: 5 EW:2 4SXW-2 300 -2.0 3
a4 ~ 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
B¢V ABN o QIT762 ¢VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




112 £ F > A EREHL 2RR2 =

=> R6

#1: 5 BRIBEI5E(190.33) #2: 3 ﬁlﬂ%(l& 9) #3: 6 =1&E(181.8)

1 O NS: FRI7FH =OUEEAC) -16 4 NS: PRIERR FE1ESR(FO) 13| 2.50 17.50 | Total VP: 108.36 Rank:
EW: £ 58 REEREHO) -13 EW: iti#E4 M#H#(BAC) 1 IMP:| 14 39 10
I I
# 17 o A52 3NN5 -460 Mean: 3NN5 460 7.0 1 |[# 18 9 5DS5 -600 Mean: 5DS5 600 10.0 1
v K5 3NN-2 100 160  3NN3 400 6.0 4 v AT853 5SXW-2 -300 140 5SXW-2 300 4.0 2
«» K872 Dif: -560 NS:-6 3NN-1 50 50 2 ¢ 32 Dif: -300 NS:4 5SXE-2 300 40 1
& AKQ6 IMP: -11 EW:-7 3NN-2 100 -6.0 2 & KQ432 IMP: -7 EW:-10 4SXW-1 100 1.0 1
» J873 » Q964 3NN-3 150 7.0 1 || AKJT653 # 8742 4SW-1 50 3.0 3
v Q8 v T643 v 64 I v J92 5DS-1 100 -6.0 1
¢ QJT643 *A T + AQ6 6DS-2 200 -8.0 1
&4 » J873 & ATS & 986
® VBN KT *4VABN 4 Q
N 5~4~4 ¢ AJI72 N 343~~ v KQ7
S 5~4~4 495 S 343~ ~ ¢ KJI8754
E ~~~~~ & 1952 E ~~~32 &J7
W ~~~~~ W ~~~32
# 19 a T87543 3SN4 -170 Mean: 4SN4 420 40 4 ||# 20 » A853 4HS4 -620 Mean: 4HS4 620 0.0 1
v AJ 2CS2-90 260  3SN4 170 3.0 3 v 87542 4HN4 -620 620  4HN4 620 0.0 9
¢ 543 Dif: -80 NS:-5 2SN4 170 3.0 2 ¢ A Dif: 0 NS:0
& AQ IMP: -2 EW:3 2CS2 90 5.0 1 & AT2 IMP: 0 EW:0
a9 a K2 aQ a JT72
v T532 v KQ64 v K93 + v6
+ KJ86 ¢ AQT7 ¢ JT9853 + Q42
& J964 a 732 » 875 » KQ943
h VAN o, AQI6 % ¢ VAN 4 K64
N ~~~53 9987 N ~~444 v AQJT
S ~~~53 ¢92 S ~~433 ¢ K76
E ~12~~ &KT85 E ~~~~~ & J6
W ~12~+~ W ~ ~~~~
# 21 » Q82 1NS5 -210 Mean: 3NS5 660 100 2 ||# 22 » J83 4SW-1-100 Mean: 3HN3 140 50 1
v Q7 3NS-1100 170  1NS5 210 1.0 2 v AJ7653 4SW4 620 -50  4SW-1 100 40 3
+ KT53 Dif: -310 NsS:-7 3Cs4 130 1.0 1 *3 Dif: -720 NS:-11 3SW-1 100 40 2
» KT83 IMP: -7 EW:-1  1NN2 120 20 1 » J85 IMP: -12 EW:-4 2SW2 110 20 2
a4 AT75 » KJ63 2HW-1 50 3.0 1 [|a AQ542 & KT6 5HXN-2  -300 -6.0 1
v J986 v A532 3NS-1 100 70 2 ||w K2 — v T4 4SW4 620 -11.0 1
¢ 642 ¢ J98 3NN-1 4100 7.0 1 QT * KJ964
+ Q2 & 54 » Q632 & KT9
o ¢VABN 4,94 o ¢VABN 497
N 44~~2 vKT4 N ~~3~~ v Q98
S 44~~2 ¢AQ7 S ~~3 ~~ ¢ A8752
E ~~~~~ & AJI76 E 22~2~ &A74
W~~~~~ W 22~2-~
# 23 # AK53 4HE-1 -100 Mean: 5HXE-2 500 11.0 1 ||# 24 » 86 5HS-1 50 Mean: 4HS6 480 4.0 2
v QJ62 5HE-2-200 o 5HE-2 200 50 1 v T95 4HS6 -480 350 3NS5 460 3.0 1
*4 Dif: 100 NS:5 4HE-1 100 3.0 1 + AKQJ65 Dif: 530 NS:4 4HS4 420 20 3
& 9862 IMP: 3 EW:-3 4SS-1 4100 -30 6 & J4 IMP: 11 EW:9 4SXwW-2 300 -2.0 3
a4 ~ 98 4SXS-1 200 50 1 ||a QJ942 a AT75 5HS-1 50 9.0 1
v KT4 + v A9753 v A7 v 862
¢ QJ73 + K9852 o T ¢ 9743
& AKT74 S »Q & T7653 » Q2
% VAN o QJT762 ¢4VAN A K3
N ~~~3~uw N ~54~3 v KQJ43
S ~~~3~ ¢AT6 S ~54~3 ¢82
E ~43~~ &J53 E ~~~~~ & AK98
W ~53~~ W ~ ~~~~




